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EMRS TGT Practice Set  
 

Q1.

 
 
Q2.

 
 
Q3.

 
 
Q4.

 
 
Q5.

 
 
Q6.

 
 
Q7.

 
 

Q8.

 
 
Q9. –

 
 
Q10.

 
 
Q11.

 
 
Q12.
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Q13.

 
 
Q14.

 
 
Q15.

 
 
Q16.

(a) 3√2 km

 
 
Q17.
in it. ‘Iyer’ is son of ‘Jethalal’, Babitaji is daughte
‘Tappu’ who has a son and a daughter. If ‘Champak’ is 
grandson of ‘Tappu’ and ‘Babitaji’ has only one child. 
How is ‘Iyer’ related to ‘Champak’. 

 
 

Q18.

 
 
Q19.

 
 
Q20. In a code language, 123 means ‘hot �iltered 
coffee’, 356 means ‘very hot day’, 589 means ‘day and 
night’. Which numerical stands for ‘very’?

 
 
Q21.

 
 



             

3 

     

Q22.

 
 
Q23.

 
 
Q24.

 
 
Q25.

 
 
Q26.

 
 
Q27.

 
 
Q28.

 
 

Q29.

 
 
Q30.

 
 
Q31.

 
 
Q32.

–
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Q33. 

 
Q34.

–

 
 
Q35.

 
 
Q36.

 
 
Q37.

 
 

Q38.

 
 
Q39.

 
 
Q40.

िनदश:(41-45) दए गए ग ाशं को पढ़कर िन िलिखत  के 
उ र दीिजए। 

भी हो सकता

 ीटोख ।ीभ ीरख रऔ ैह ीतकस ोह ीभ ीटोख ोज

केवल तब तक

- न - कोई िवकृित 

लगता

तो वह अपनी 

ैह ीभत ोत दंनआ  
 
Q41.
है

 गोल लेाव ेनझमस न ोक नवीज
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Q42.
 के कारण 

समय अभाव के कारण
गलत नीयत या नीित के कारण 
अदारता के कारण  

 
Q43.
गया है

 
 
Q44.

नीयत को 
समय को 
सोच को  

 
Q45. ैह ातलमि बक दंनआ ीलसअ ाक नवीज

 
 
Q46. ‘ ीनदँाच  का    है-

 
 कंयम
  

ीदुमौक  
 
Q47.   वाले  का चयन -

  
  
  
  

 
Q48. ‘ ’ का िवलोम  है- 

 
कृपण 

 
  

 

Q49. ‘उधो का ानले  न माधो को ानेद ’, रेवाहुम  का  है- 
(a) सबसे अलग रहना
(b)  भाव स े रूद  रहना 
(c) िहसाब साफ रखना 
(d) अपने काम से काम 
 
Q50. ‘न तीन  न हरेत  ’  का  है- 

    कम होना 
 न अिधक होना न ही कम होना 
  होना 
 आलसी होना 

Directions (51-55): Read the following passage 
carefully and choose the most appropriate answer 
to the question out of the four alternatives.  
The Budget’s thrust on giving a growth stimulus

₹

used to achieve the government’s aim of 
₹

contributing to India’s growth journey, the Budget did 

₹
₹
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Q51.

 
 
Q52.

 
 
Q53. ‘cognizance’

 
 
Q54.

 
 
Q55.

Direction (56-57): Identify the segment in the 
sentence, which contains the grammatical error. 
 
Q56.

 
 

Q57.

 
 
Q58.

An old head on young shoulders 

 
 
Q59. Choose the correct alternative and �ill in the 
blanks in the following sentence: 

 
 
Q60.
DETRACTOR 
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Solutions 
 
S1. Ans.(a)
Sol. 

 
 
S2. Ans.(a)
Sol. 

 
 
S3. Ans.(a)
Sol. 

 
 
S4. Ans.(b)
Sol. 

 
 

S5. Ans.(b)
Sol. 

 
 
S6. Ans.(a)
Sol. 

 
S7. Ans.(b) 
Sol.

 
 
S8. Ans.(a)
Sol. 

 
 
S9. Ans.(a)
Sol. 

 
 
S10. Ans.(c)
Sol. 
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S11. Ans.(c)
Sol.  
 
S12. Ans.(c)
Sol.  
 
S13. Ans.(b)
Sol.  
 
S14. Ans.(a)
Sol. 112 –
102 –  
 
S15. Ans.(b)
Sol. 

 
 
S16. Ans.(b)
Sol. 

 
 
S17. Ans.(b)
Sol. 

 
 
S18. Ans.(b) 
 
S19. Ans.(c)
Sol.  
 
S20. Ans.(b)
Sol.  
 

S21. Ans.(a)
Sol. 

 
 
S22. Ans.(d)
Sol. 

 
 
S23. Ans.(d)
Sol. 

 
 
S24. Ans.(b)
Sol. 

 
 
S25. Ans. (d)
Sol. 

 
 
S26. Ans.(c)
Sol. 

 
 
S27. Ans.(c)
Sol. 

 
 
S28. Ans.(a)
Sol. 

 
 
S29. Ans.(a)
Sol. 
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S30. Ans. (d)
Sol.  
 
S31.
Sol. 

 
 
S32. Ans.(a)
Sol. 

 
 
S33. Ans.(b)
Sol. 

 
 
S34. Ans.(a)
Sol. 

 
 
S35. Ans.(d)
Sol. 

 
 

S36. Ans.(c)
Sol. 

‘Brainstorming’ was founded by Alex F. Osborn as 

 
 
S37. Ans.(d)
Sol. 

 
 
S38. Ans.(b)
Sol. 

 
 
S39. Ans.(a)
Sol. 
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S40. Ans.(a)
Sol. 

 
 
S41. Ans.(d)
Sol. 

 
 
S42. Ans.(c)
Sol. 

 
 
S43. Ans.(c)
Sol. 

 
 
S44. Ans.(b)
Sol. 

 
 
S45. Ans.(d)
Sol. 

| 
 
S46. Ans. (b)
Sol. ‘ - ीदुमौक

 
 
S47. Ans. (b)  
Sol. -  
 
S48. Ans. (d)
Sol. ‘ ’ का िवलोम  ‘ ’ ।ैह            
 
S49. Ans. (d) 
Sol. ‘उधो का ानले  न माधो को ानेद ’, रेवाहुम  का  है- ‘अपने 
काम स ेकाम’।  
 

S50. Ans.(c)
Sol. ‘न तीन  न हरेत  ’  का  है-  होना।  
 
S51. Ans(d) 
Sol. 
“This �iscal math will be challenging to achieve but the 

₹

government”. Hence option (d) is the correct choice. 
 
S52. Ans(b) 
Sol. Refer to “the Budget did well to bring all 

₹

₹250 crore”. 
 
S53. Ans(a)
Sol. ‘Cognizance’ means knowledge or awareness. 
 
S54. Ans.(b)
Sol. Refer to “In addition, measures such as opening of 

for investment purpose”. Hence option (b). 
 
S55. Ans.(c)
Sol. para, “ It

19”. Hence option (c) is correct. 
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S56. Ans.(b)
Sol. Use ‘sweeter’ in place of ‘more sweetly’. 
 
S57. Ans.(b)
Sol. Change ‘losed’ into ‘lost’. The correct V2 and V3 
forms of ‘lose’ is ‘lost’. And, yesterday/ago takes 

 
 
S58. Ans.(c)
Sol. 

 
 
S59. Ans.(b)
Sol. 

 
S60. Ans.(c)
Sol. 

 


